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Lärchenborkenkäfer, 
Großer

 
37

 
27.700

 
233   

24.049
 

29.900
 

12.399    
26.440

 
500/2

 
800   

8.300

Lärchenbock  
8

 
621   

450
 

1.520       
6.600

Eichenprachtkäfer  
116

 
1.200

 
13   

3.790
 

3.150     
1.920   

200  

Buchenprachtkäfer  
1 0

 
600

 
0   

5.560
 

220   
260  

Ulmensplintkäfer   
0    

Eschenbastkäfer    
45.900


650   

50
 

1.000/2  

Erlenwürger  
1


0     

780

Pappelbock  
0      

5.200

Nutzholzborkenkäfer, 
Gestreifter

 
81.965

 
25.600

 
97.250   

9.008
 

41.400
 

8.180     
1.185   

750  

Laubnutzholz- 
borkenkäfer

 
700

 
3.350

 
1.405

 
3.970

 
15.400    

470   
120   

Eichensplintkäfer   
490

 
250   

1.034   

Birkensplintkäfer  
650

 
1.478  

Holzwespen  
80

 
1.540   

N
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ge

Nonne   
0

 
0    

0
 
0   

1 0

Fichten-Gespinst-
blattwespe

 
45

 
0

 
0      

30

Fichtenblattwespe, 
Kleine   

1
 
0      

20

Fichtenröhrenlaus 
0  

 
16.600/ 

109
 

Forleule   
0

 
0    

0
 
0 

Kiefernspanner   
0

 
0     

0
 
0 

Kiefernspinner  
0

 
1 0    

0
 
0 

Kiefern- 
prozessionsspinner


0   

8 1
 
0 

Kiefernbusch
hornblattwespen

 
53    

0

1    

5
   

130

Kiefernknospentrieb-
wickler


0    

Lärchenminiermotte  
0

 
900

 
0   

43
 

350
 
7    

12   
7   

2.000

Lärchenwickler, Grauer 
4    

130

Tannentrieblaus  
3

 
800

 
0

 
4     

750

Tannenstammlaus  
8

 
220

 
0

 
1 0    

Douglasien- 
wolllaus

 
0           

Bl
at

ts
ch

äd
lin

ge Eichenwickler

 
0

 
50    

14
 
30

 
215

   

 
213

 

Frostspanner, Großer  
 
0

 
175

      
1 0

Frostspanner,  Kleiner  
160         

20

9.632

19


